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% | Section - A
g Objective Type Questions
= Q1. Choose the correct answer: 15x1=15
i)  Transportation model helps us in :
(@) Finding nearest transport office
(b) Finding transportation cost between two
cities
(c¢) Finding lowest transportation cost
(d) None of these |
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) A transportation problem iH‘hlﬂﬂ'ﬂL‘t‘.d 1y

@)  Tutal demand s total supply

() ol demand < total supply

(¢} "Tutal demand > total supply

(d)  None of these
i) Foroptimality test:

(1)  BES must contain m + nallocations

(b)  BES must containm + n+ [ allocations

] S (¢) BES must containm +n~ I allocations
; ; (d) None of these
§ ; V) Assignment problem is basically a
% % (a) Maximization problem
: - (b)  Primal problem
é g (¢) Minimization problem
(d) Transportation problem
v) Thebalance the assignment matrix we have to:
(a) Openadummy row
(b) Openadummy column
(c) Open eigher a dummy row and column
depending on the situation
(d) Youcannot balanced assignment matrix
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vi) The similarity between assignment problem
and transportation problem is :
(a) Both are rectangular matrices
(b) Both are square matrices
(c) Bothcanbe solved by graphical method
(d) Both have objective function and non
negativity constraints
vii) CPM is
(a)  Critical Project Management
(b) Critical Path Method

iy

g (c) Critical Path Management
5 (d) Crash Project Method
g viii) Which of these is not correct?
g () CPMis event-oriented
= (b) PERT is probabilistic in nature
(c) CPM is deterministic in nature
(d) CPM and PERT use similar terminology
| - but where developed independently
1x) Slack equals :
(@ LF-EF (b) EF-LF
() EF-LS (d) LE-ES
YAI8-718 PK-476
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x) Monte-Carlo procedure is related to
(n) Simulation (b) Assignment

(¢) ‘Transportation (d) None of these
Xi) A simulation model uses the mathematicy]

expressions and logical relationships of
(a) Real time
(b) Computer model
(c) Performance measures
(d) Estimated inferences
xi1) When events occur at discrete points in
(a) A simulation clock is required

(b) The simulation advances to the next event
(c) Themodelis adiscrete event simulation
(d) All of the alternatives are correct

xiii) A saddle point exists when :

(a) Maximin Value = Maximax Value

(b) Minimax Value =Minimin Value

the

time:
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(c) Minimax Value =Maximin Value
(d) None of these htip://'www.onlinebu.com
xiv) If the value of the game is zero, then the game

isknownas:

(a) Fairstrategy (b) Pure strategy
(c) Puregame (d) Mixed strategy
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xv) Inamixed strategy game :
No saddle point exists

Each player selects the same strategy
without considering other player's

choice

Each player always selects same strategy

All of the above

Section - B

5%5=25

Q.2. Obtain an initial basic feasible solution to the
following Transportation problem using North-
West Corner Rule. _
D |E |F |G |Available
A 11 [13 |17 |14 250
B 16 |18 |14 |10 300
C 21 |24 |13 [10 400
Requirement | 200 225|275] 250
OR
Prove that the number of basic variables of the
general transportation problem at any stage of
feasible solution must be m+n-—1.
YAI8-718 PK-476
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What is assignment problem? Write mathematicg)
formulation of assignment problem.
OR

What is General Non-Linear Programming
Problem? Write the necessary conditions for
maximum or minimum of f (x, X;) subject to
constraints g(x; , X3) =€ and x; , x; 2 0, where
C is constant.

What is Network? Write its basic components.
OR |
Write rules of Network construction.
@ Classify simulation models.
OR
Write five advantages of simulation.
Q.6. Find saddle point for following (3x2) pay of
matrix
B, B, PlayerB
_ A9 2
PlayerA A, |8 6
A; 16 4
OR
YAI8-718 PK-476
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] : _ i i Lucknow - Kanpwr
Two Iﬁlnns are competing for business under the M . Ranchi  Defh 1(3:; \ 1(1{)p
condltl_c-n 50 that on firm's gain is another firm's imbai 90 20
loss. Firms A's pay off matrix is given below: Caleura 50 70 130 83
Firm B Obtain initial basic feasible solution by Vogel's
) Approximation Method (VAM).
No. Medium Heavy OR
ad ad ad
FirmA No. ad 10 5 _2 Given x5 = 50 units, x4 = 20 units
Mediumad 13 12 15 X3 = 55 units, x3; = 30 units
Heavy ad 16 14 10 X32 = 35 units, x34 = 25 units

dny
dny

Suggest optimum strategies for the two firms and $ It an optimal solution to the transportation

g net outcome thereof. http://www.onlinebu.com g g problem. .
- 5 : Autlible
= Section - C _ = = units
ol Long Answer Type Questions g‘ §~ 6 1 o 3 70
E 5x9=45 g o 115 2 3 55
5 A company manufacturing air coolers has two = . 10 12 4 4 90
plants located at Mumbai and Calcutta with a Required units 85 135 50 45
weekly capacity of 200 units and 100 units Ifnot, modify .
respectively. The company supplies air coolers to 1tto obtain a better feasible solution
. its 4 show rooms situated at Ranchi, Delhi, '
Lucknow and Kanpur which have a demand of
75, 100, 100 and 30 units respectively. The cost
of transportation per unit (in Rs.) is shown in the
following table. '
| YA18-718
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08 A depattanent hoad ha toue Uiy sk Qo

m&k'x to M povtormed. The sub- oidinates dittee i
t-.FuSmlwy Al the tasky ditor W thele s
difficulty, hix estinate of the time, bael man
wmtlltl take 1o pertora cach ik, i given (o the
matrix below; |
Mon
Tsks U F G
A8 26 17U

B 13 28 b 26

C 38 19 18 1S

D v 26 24 W0
How should the task be allocated so as to wininize
the total man hours,

B - OR
Solve the non-linear progranuning problem:
Optimize z = 4x,2 0y 2).'22 b x:.z = XAy
Subject to constraints Xy - Xy b Xy =S
2 = Xy + 22 2 20
PK-476 RO,
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For the following network diagram find total float,
free float and independent float:

Task: A BC D E F G H
Time: 23 8 20 16 24 18 19 4 10

I

- DurrunyActivityl

——— O - Node

OR
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(11) (12)
A pI'O_]._ECI COnsists of Eight activid : | _. Daily Demand: 0 0 20 3} 0 9
fg]lgw;ng rele,',ant . : es with the - Probabils
— information: Ik abily: 001 020 015 050 0.12 002
Actvity | Immediate | Estimated duration (days) ES;;IS‘—]:IEWEIE SECI; reti0dme
: o .
Predecessor Optim-| Most | Pessi Rand e lf:ma.n for next 10 days.
: *istic | Likely | mistic Random numbers : 25,39, 65,76, 12,05, 73,8
- 1 1 ) ? L] ‘
B - 1 4 7 Also estimate the daily average demiand for the
C i , 5 g cakes on the basis of simulated date.
D A 1 1 1 = =3 |
E B 2 5 14 g 2 Q11 Solve the following 2x4 game graphically
= =
(1; DCE § 2 185 Z Z Player B
H F.G 1 2 3 §. g Bi B, By By
http://www.onlinebu.com ;:nD- % Player A 2 1 0 -2
i)  Draw the PERT network and find out the o 5 Al o 3 )
expected project completion time = = OR
ii)  What duration will have 95% confidence for SU]‘VE‘: the following game by Linear programming
project completion? technique. . fHmin
Player B
).10. Explain Monte-Carlo simulation with example. 1 -1 3
OR Player A 3 5 3
A Bakery keeps stock of a popular brand of cake 6 2
Previous experience shows the daily demapd
pattern for the item with associated probabilities )
as given below: RIS
Al18-718 PK-476 , PTO. YA18-718 PK-476
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